
1 

 

2017 Ford Super Duty 4x4 
Front 5-6” Lift Kit 

Installation Instructions 

2686 Highway 92 - Oskaloosa, IA 52577 
phone: 641.673.0468 - fax: 641.673.4168 

www.kelderman.com 

 Taps required: 1/4-20 and   3/8-24   
Drill bits required: ,13/64,21/64, 7/16  

Version 1.2 
 



2 

1)  Before you remove anything off the truck, measure the pinion angle on the bottom 

of the differential.  Record the measurement here _____.  Once the kit is installed, 

check to see that the pinion angle is close to original. This will keep the correct caster 

and camber. 

2) Jack the truck up from the axle until the wheels are off the ground. Place a jack 

stands under the front of the frame.  Keep the jack under the axle and remove the 

wheels. Remove the shocks and unhook the sway bar end links. Unbolt the brake line 

bracket from the lower coil spring mount and lower the jack down. Remove the coils 

and cast spring perch bolted on top of the axle.   

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

   

 

 

  

  

          

Front ready for installation 



3 

3) Locate the side badges (P/N # 69373DS and P/N # 69375PS) and the backing 
plates (P/N # 69374). They attach to the factory radius arms. Lay the backing badges 
on the side of the trailing arm like in the picture below. Using the holes in the badges 
as a template, mark the center of the holes. Remove the template and drill four holes 
13/64”. Tap these holes with a 1/4-20” tap. Place the backing plates on the trailing 
arms and the badges over top. Fasten the backing plates and side badges with the 
1/4” bolts.   

Side badge 
Backing plate 



4 

4) Remove the rear bolts that 
hold the factory radius arms 
to the frame. Locate the trail-
ing arm drops (P/N # 69455).  
They fasten into the factory 
trailing arm mount with four 
3/4 x 5 1/2” bolts. Torque 
these bolts to 175 ft./lbs.                               
Insert the factory trailing arm 
into the drop and fasten with 
the 3/4x 5 1/2” bolts. Torque 
this bolt to 175 ft./lbs. also.  
Do both sides at the same 
time. 



5 

5) Locate the pan hard bar/track bar 
drop bracket (P/N # 69471 is 
F250/350 and P/N # 69460 is for the 
F450 pickup kits) Install the pan hard 
bar drop with the factory bolts.          
It fastens just like the OEM bracket. 
Torque these bolts to 95 ft./lbs.      
Remove the steering arm from the 
stock pitman arm. Set aside the nut, 
locking crown and cotter pin.         
Remove the pitman arm. You will  
reuse the nut and lock washer.     
Remove the pan hard bar bolt and 
pan hard bar mount.  Locate and   
install the drop pitman arm (part# FA 
450 is F250/350 and Part# 80115 is 
F450). Torque the factory nut to 275 
ft./lbs. and torque the steering arm 
ball joint nut to 115 ft./lbs. Reinstall 
the locking crown and cotter pin.  
NOTE: After 15 miles, re-torque the 
pitman arm.   

Pitman arm installed 



6 

6)  Locate the upper air bag mounts (P/N # 69090DS and 69094PS) and shock reser-

voir mounts (P/N # 69468 DS and part# 69469PS). The shock reservoir mounts mount  

in between the upper air bag mounts and upper coil bucket with two 3/8 x 2” bolts.   

The back of the upper air bag mount fastens to the frame with two 3/8 x 1 1/2” bolts to 

the side of the frame. Use the upper air bag mount to mark where to drill the holes in 

the frame. Drill the upper holes to 7/16”. Drill the holes in the side of the frame to 

21/64”. Use a 3/8-24 tap to thread the side of the frame. Fasten the air bag in place 

and torque the bolts to 40 ft./lbs.     

 

 

Drill the holes in the side of the frame with a 
21/64 drill bit and thread the holes with a 3/8-
24 tap.   

Drill the upper holes in the spring perch 7/16” 

Insert the shock remote reservoir 
mounts here on top of the upper 
air bag mount and under the fac-
tory spring perch 



7 

7)  IF THE TRUCK IS A F-450 PICKUP, GO TO PAGE 8. THE LOWER AIR BAG 
MOUNTS ARE DIFFERENT THAN THE F250-350 P/U. THE F450 ALSO REQUIRES 
SHOCK SPACERS. Locate the lower air bag mounts (P/N # 69476 DS and  69485 
PS). They fasten to the axle with the M14 X 25 bolt and the 3/8 x 1 1/2” bolt.            
The bottom extension of the lower air bag mount fastens to the shock mount on the 
axle with the factory shock mount. You will need to drill a hole in the pad on each side.  
The driver side uses the hole furthest away from the tire and the passenger side uses 
the hole closes to the tire. Drill this hole with a 3/8” drill bit.  Use the air bag mount as a 
drill jig.  Once you finish drilling the holes, insert the 3/8 x1 1/4” bolt and  torque to 40 
ft./lbs. Torque the M14 bolt to 85 ft./lbs. Torque the shock bolt to 85 ft./lbs. 

Drivers side uses hole closest to the truck frame 



8 

8) Locate the F5323 (P/N # 80012-5323) air bags. They fasten into the upper air bag 
mount with the 1/2 and 3/4” nuts and washers.  The bottom of the air bag fastens to the 
lower air bag mount with the 1/2 x 3 3/4” bolt. Torque the nuts and bolts to 35 ft./lbs.  
NOTE: THE BOTTOM OF THE AIR BAG IS SLOTTED. AFTER THE ISNTALL IS 
COMPLETE, MAKE SURE THE AIR BAG IS STRAIGHT UP AND DOWN AND 
THERE IS AT LEAST 3/8”CLEARANCE BETWEEN THE AIR BAG AND TIRE AND 
INSIDE OF THE FRAME  

Drivers side uses hole closest to the truck frame 



9 

9) F450 pickup trucks only. Locate the lower air bag mounts (P/N # 69487DS and  
69459PS). They fasten to the axle with the M14 x 25 bolt and the 3/8 x 1 1/2. Place the 
lower bag mounts on top of the perch. Start the 14mm bolt to locate the mount in posi-
tion. No need to tighten this bolt. Use a paint marker to locate on the axle where to drill 
a hole for the 3/8” bolt. Remove the bracket and drill the hole with a 7/16” drill bit. Place 
the brackets on the axle and fasten with the 14mm bolt and the 3/8” bolt. Torque the 
14mm bolt to 95 ft./lbs. and the 3/8” bolt to 45 ft./lbs.   
 
 



10 

10) Locate the shock relocation brackets (part# 69389). Use the factory shock bolt to 
fasten into place. Torque this bolt to 95  (F-450 only). Use the 1/2 x 2 1/2” to fasten the 
shock to the relocation bracket. Torque to 55 ft./lbs. 



11 

 

11) Locate the shocks. On the F250-/F-350 the top of the shock fastens into the     
original shock location and the bottom of the shock fastens into the lower air bag 
mount with the 1/2 x 3” bolt. torque the top nut to 35 ft./lbs. and the 1/2” shock to 85 ft./
lbs. The F450 trucks use the factory upper location and the bottom fastens into the 
shock relocation bracket. The remote reservoir fastens to the reservoir mount with the 
hose clamps that comes with the shocks. 



12 

12) Locate the sway bar drops (P/N # 69173DS and  69174PS). They fasten to the 
frame with the OEM sway bar bolts. Fasten the sway bar to the sway bar drop with the 
3/8 x 1 1/2” bolts. Torque these bolts to 55 ft./lbs. Reconnect the sway bar to the       
factory end links.   



13 

13) Locate the steering stabilizer kit. Take out the middle two bolts on the passenger 
side of the differential cover. Locate the steering stabilizer (part # 16005) and mounting 
ear spacer (part# 30168) and place it on the front side of the axle. Use the bolts that 
you took out of the diff cover to fasten the right side of the bracket and use four 7/16” x 
1 1/2” bolts to fasten it to the steering stabilizer clamp (P/N # 16008). Locate the shock 
end mounts (P/N # 69356DS and 69355PS for F250/350 and P/N # 69386DS and       
# 69388PS for F450) and fasten them to the pinch bolts on the drag link.     
                    
14) Locate the steering stabilizer shocks (P/N # 985-24-068). Use the 1/2 x 3” bolts to 
fasten the shocks to the center bracket with the tie plate (P/N # 20227). Use the        
1/2 x 2 1/2” bolts to fasten the shock end mounts to the other end of the shocks.   



14 

15)  Locate the new brake lines.  They will fasten to the lower air bag mount with the 
1/4x1” bolt.  You will want to shorten the bracket as it doesn't need to be near that 
large.  Bleed the brakes once the brake lines are installed.    



15 

16) Set the air bags at 8.5” tall. You can use the jack to do this or air up the system.   
Measure in between the upper and lower air bag mounts. This will be the ride height 
and according to Firestone, this is the “sweet spot” where the air bag rides the  
smoothest. Locate the mechanical height control valve or electronic sensor, depending  
on what system you have purchased. When mounting the sensor or leveling valve you 
will have to drill two 13/64” holes and use a 1/4-20” tap to tap into the frame.   



16 

The mechanical valve at ride 
position. Note the arm is 
straight. Before installing rotate 
the arm 3 turns each way to 
get the internal parts ready for 
operation. The top port is ex-
haust, the bottom port is input 
from tank and middle port is 
out to air bags. 



17 



18 


